1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL BASIN - SEDIMENT REMOVAL, STAGE 90

**Project Number:** 4-0-00030-90

Bid Open Date:

Bid Abstract



ENGINEER'S ESTIMATE	CONTERA CONSTRUCTION	MDB GENERAL
	CORPORATION	ENGINEERING, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$300,000.00	\$300,000.00	\$67,000.00	\$67,000.00	\$20,000.00	\$20,000.00	
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$27,500.00	\$27,500.00	\$45,000.00	\$45,000.00	
3	TRAFFIC CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$77,935.00	\$77,935.00	\$10,000.00	\$10,000.00	
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$25,000.00	\$25,000.00	\$244,960.94	\$244,960.94	\$15,000.00	\$15,000.00	
5	BASIN EXCAVATION	C.Y.	227000	\$10.00	\$2,270,000.00	\$8.53	\$1,936,310.00	\$14.00	\$3,178,000.00	
6	EXTRA DIRECTED WORK	L.S.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
7	DUST ABATEMENT	L.S.	1	\$15,000.00	\$15,000.00	\$232,107.25	\$232,107.25	\$50,000.00	\$50,000.00	
8	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$84,537.75	\$84,537.75	\$30,000.00	\$30,000.00	
g	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00	

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL BASIN - SEDIMENT REMOVAL, STAGE 90

**Project Number:** 4-0-00030-90

**Bid Open Date:** 

**Bid Abstract** 



ENGINEER'S ESTIMATE MIKE BUBALO GRIFFITH COMPANY CONSTRUCTION CO., INC.

tem No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$300,000.00	\$300,000.00	\$350,000.00	\$350,000.00	\$220,000.00	\$220,000.00	
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$315,000.00	\$315,000.00	\$7,000.00	\$7,000.00	
3	TRAFFIC CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$53,700.00	\$53,700.00	
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$25,000.00	\$25,000.00	\$400,000.00	\$400,000.00	\$28,000.00	\$28,000.00	
5	BASIN EXCAVATION	C.Y.	227000	\$10.00	\$2,270,000.00	\$10.00	\$2,270,000.00	\$14.50	\$3,291,500.00	
6	EXTRA DIRECTED WORK	L.S.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
7	DUST ABATEMENT	L.S.	1	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	\$170,000.00	\$170,000.00	
8	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$7,500.00	\$7,500.00	
9	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$15,000.00	\$15,000.00	\$40,000.00	\$40,000.00	\$24,000.00	\$24,000.00	

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL BASIN - SEDIMENT REMOVAL, STAGE 90

**Project Number:** 4-0-00030-90

**Bid Open Date:** 

**Bid Abstract** 



ENGINEER'S ESTIMATE STICE COMPANY, INC. EARTH CONSTRUCTION & MINING

tem No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1	MOBILIZATION	L.S.	1	\$300,000.00	\$300,000.00	\$166,452.00	\$166,452.00	\$388,000.00	\$388,000.00	
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$10,700.00	\$10,700.00	\$5,000.00	\$5,000.00	
3	TRAFFIC CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$25,000.00	\$25,000.00	\$11,610.00	\$11,610.00	\$40,000.00	\$40,000.00	
5	BASIN EXCAVATION	C.Y.	227000	\$10.00	\$2,270,000.00	\$14.25	\$3,234,750.00	\$20.40	\$4,630,800.00	
6	EXTRA DIRECTED WORK	L.S.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
7	DUST ABATEMENT	L.S.	1	\$15,000.00	\$15,000.00	\$288,900.00	\$288,900.00	\$10,000.00	\$10,000.00	
8	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$86,750.00	\$86,750.00	\$42,000.00	\$42,000.00	
9	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$15,000.00	\$15,000.00	\$42,800.00	\$42,800.00	\$5,000.00	\$5,000.00	

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL BASIN - SEDIMENT REMOVAL, STAGE 90

**Project Number:** 4-0-00030-90

**Bid Open Date:** 

**Bid Abstract** 



ENGINEER'S ESTIMATE MAMCO, INC. dba ALABBASI AID BUILDERS, INC.

tem No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
,	MOBILIZATION	L.S.	1	\$300,000.00	\$300,000.00	\$217,332.00	\$217,332.00	\$230,000.00	\$230,000.00
2	2 WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$6,000.00	\$6,000.00	\$295,000.00	\$295,000.00
3	3 TRAFFIC CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$3,000.00	\$3,000.00	\$120,000.00	\$120,000.00
2	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$310,000.00	\$310,000.00
Ę	BASIN EXCAVATION	C.Y.	227000	\$10.00	\$2,270,000.00	\$21.00	\$4,767,000.00	\$18.69	\$4,242,630.00
6	S EXTRA DIRECTED WORK	L.S.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
7	DUST ABATEMENT	L.S.	1	\$15,000.00	\$15,000.00	\$300,000.00	\$300,000.00	\$115,000.00	\$115,000.00
8	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00	\$95,000.00	\$95,000.00
ę	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$15,000.00	\$15,000.00	\$1.00	\$1.00	\$195,000.00	\$195,000.00

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL BASIN - SEDIMENT REMOVAL, STAGE 90

**Project Number:** 4-0-00030-90

**Bid Open Date:** 

Bid Abstract



<b>ENGINEER'S ESTIMATE</b>	EMPIRE EQUIPMENT	RIVERSIDE CONSTRUCTION
	SERVICE, INC.	COMPANY, INC.

Item No.	Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1	MOBILIZATION	L.S.	1	\$300,000.00	\$300,000.00	\$385,037.92	\$385,037.92	\$300,000.00	\$300,000.00
2	WATER CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$78,519.22	\$78,519.22	\$50,000.00	\$50,000.00
3	TRAFFIC CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$69,538.76	\$69,538.76	\$50,000.00	\$50,000.00
4	CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$25,000.00	\$25,000.00	\$179,537.09	\$179,537.09	\$150,000.00	\$150,000.00
5	BASIN EXCAVATION	C.Y.	227000	\$10.00	\$2,270,000.00	\$22.52	\$5,112,040.00	\$22.65	\$5,141,550.00
6	EXTRA DIRECTED WORK	L.S.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
7	DUST ABATEMENT	L.S.	1	\$15,000.00	\$15,000.00	\$42,634.90	\$42,634.90	\$100,000.00	\$100,000.00
8	STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$19,192.85	\$19,192.85	\$100,000.00	\$100,000.00
9	NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$15,000.00	\$15,000.00	\$44,783.32	\$44,783.32	\$58,000.00	\$58,000.00

Bid Abstract 1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax 951.788.9965

Project Name: BAUTISTA CREEK CHANNEL BASIN - SEDIMENT REMOVAL, STAGE 90

**Project Number:** 4-0-00030-90

**Bid Open Date:** 

